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SODIUM THIOSULFATE,0.025N,4LITRE W2276

IODINE SOLUTION  .025N    1L W2283

Starch Solution, 4L W2121

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:
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9034
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ketankumar

T1 - T2 

Diff (mL)

Value 

Corrected 
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(g)

1 PB107040BL 50 08:0303/03/20180.004.924.920.005.005.021 0.000.08

2 PB107040BS 50 08:0603/03/2018199.602.422.420.005.005.011250 2.502.58

3 J1720-01 50 08:0903/03/201819.124.684.680.005.005.021 0.240.32

4 J1720-01DUP 50 08:1203/03/201817.534.709.384.685.005.021 0.220.30

5 J1720-01MS 50 08:1503/03/2018197.222.442.440.005.005.031250 2.482.56

6 J1720-01MSD 50 08:1803/03/2018195.632.464.902.445.005.031250 2.462.54

7 J1720-03 50 08:2103/03/201811.004.784.780.005.005.091 0.140.22

8 J1720-05 50 08:2403/03/201847.904.329.104.785.005.011 0.600.68

9 J1720-07 50 08:2703/03/20189.544.804.800.005.005.031 0.120.20

10 J1720-09 50 08:3003/03/20183.194.889.684.805.005.011 0.040.12

11 J1720-11 50 08:3303/03/201828.574.564.560.005.005.041 0.360.44
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 J1720-13 50 08:3603/03/201825.304.609.164.565.005.061 0.320.40

13 J1720-15 50 08:3903/03/201817.364.704.700.005.005.071 0.220.30

14 J1720-17 50 08:4203/03/201833.274.509.204.705.005.051 0.420.50

15 J1720-19 50 08:4503/03/201839.924.424.420.005.005.011 0.500.58

16 J1721-01 50 08:4803/03/201851.004.288.704.425.005.021 0.640.72

17 J1721-03 50 08:5103/03/201827.044.584.580.005.005.031 0.340.42

18 J1721-05 50 08:5403/03/201844.444.368.944.585.005.041 0.560.64

19 J1721-07 50 08:5703/03/201844.534.364.360.005.005.031 0.560.64

20 J1721-09 50 09:0003/03/201833.274.508.864.365.005.051 0.420.50

21 J1721-11 50 09:0303/03/201861.664.144.140.005.005.061 0.780.86

22 J1721-13 50 09:0603/03/201850.594.288.424.145.005.061 0.640.72
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T1 = Titrant1
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23 J1721-15 50 09:0903/03/20189.474.804.800.005.005.071 0.120.20

24 J1721-17 50 09:1203/03/201815.874.729.524.805.005.041 0.200.28

25 J1721-19 50 09:1503/03/201825.454.604.600.005.005.031 0.320.40

Page 3 of 3

T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


